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Empirical formula
Formula weight
Crystal system
Space group, Z

Unit cell dimensions

Unit cell volume
Temperature
Wavelength

Absorption Coefficient

F(000)
Crystal size / mm’

0 range for data collection
Limiting indices
Reflections collected / Unique
Completeness to 8 =26.00
Refinement method
Goodness-of-fit on F*2
Final R indices [I > 2sigma(I)]
R indices (all data)

Largest diff. peak and hole

Cis Hi; Hgy Ny S,
501.01
Triclinic
Pi, 2

a=79142) A a=97.12(2)°
b=10.359(3) A B=98.95(2)°
c=103533)A  y=106.05Q2)

793.2(4)A°
298(2) K

0.71073 A

9.962 mm’'

472
0.07 x 0.09 x 0.30 mm’
2.08° t0 26.00°
9<h<9,-12<k<12,-12<1<12

6449 /3095 [R(int) = 0.1112]

99.4 %
Full-matrix least-squares on F"2

0.991

R1=0.0801, wR2=0.1517

R1=0.0917, wR2 =0.1810
1.463 and -1.854 e. A"-3

[Hg(SCN)x(dmbpy)] (~SkeaS 5 (A) lasisey Jsb ¥ Jyor

N(1)-Hg(1) 2.291(17) C(1)-N(1) 13103)
N(2)-Hg(1) 2.39(2) C(3)-H(3A) 0.9600
He(1)-S(1) 2.436(5) C(3)-H(3B) 0.9600
Hg(1)-S(2) 2.555(7) C(3)-H(3C) 0.9600

[Hg(SCN)z(dmbpy)] SkeeS' 0 (1) gy sloaysly ¥ Jgor

N(1)-Hg(1)-NQ2) 72.5(8) S(1)-Hg(1)-S(2) 113.8(2)
N(1)-Hg(1)-S(1) 139.4(5) N(1)-Hg(1)-S(2) 100.2(5)
N(2)-Hg(1)-S(1) 110.7(5) N(2)-Hg(1)-S(2) 113.0(5)

[Hg(SCN)o(dmbpy)] SheaS 53 (9 )oed Ngmy S0 i Jgor

X-H..A d(X-H)

d(H...A)
A)

( dX...A)( &) (1) <(XHA)
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